Roll No.

(Write Roll Number from left side
exactly as in the Admit Card)

PAPER-II

Subject Code : 13

25/2023

Signature of Invigilator

Question Booklet Series X

Question Booklet No.

GEOGRAPHY

Time : 2 Hours

Maximum Marks: 200

Instructions for the Candidates

AR Gy [rrTEnt

1. Write your Roll Number in the space provided on the top of this page s, @R Sfeiem e 2@ 93k OMR ~tas FiWs B fice
as well as on the OMR Sheet provided. TFF A4 (Roll No.) 11|
2. At the commencement of the examination, the question booklet will I Eiar BT ﬁﬁ"ﬁ-‘?{%ﬁ?ﬂ% (Booklet) SNNIE STl 2¢3 | AN
be given to you. In the first 5 (five) minutes, you are requested to e (s115) g emisig-7fReI (Booklet) Y&t e it Tibi2 w1
open the booklet and verify it: S Golf AN S FA 0% 2
(i) To have access to the Question Booklet, tear off the paper seal (i) 2eia-7feG (Booklet) TE S 25w 31 (Cover Page)
on the edge of this cover page. gz FIoNG A Sics e T .
(ii) Eaulty bookle;, ifk (lietefcted, s::ogld p;lgot rep}e;::_ed ihmmeqia(;elyf ) m;’;ﬂ;w v’ng Oﬁfé%% “i?m fﬁﬁ; ?ﬁm
b e s e i i s e K e e
: s . ) 7 (FINS Sl 2fi7@-7ReF! (Booklet) 2AfoZisiw F1 T = |
replaced nor any extra time will be given.
e sfelae Tme @em 2@ =
(iii) Verify whether the Question Booklet No. is identical with (iii) ﬁﬁﬂ@-‘i@@ (Booklet) 9% OMR #6aq 53 e iz e TR
OMR Answer Sheet No.; if not, the full set is to be replaced. T A | T e A szm Zﬂ%@ﬁaﬁ 00 T
(iv) After this verification is over, the Question Booklet Series and (iv) B "T”VL‘T/Q_CFT Zfﬁﬂ@-‘?{%ﬁ?f (Booklet) Fifder @az aisig
Question Booklet Number should be entered on the OMR Sheet. T (IFEH) 799 OMR *Ii@ erfsiaa Tt 2@ |
3. This paper consists of One Hundred (100) multiple-choice type o, @3 “@lre @ (s00)-B Wﬁ T o (Multiple-choice
questions. All the questions are compulsory. Each question carries Type Questions) FCE(E | &S 2w Tex a1 S | afo zve=
two marks. g ﬁ‘l
4. Each Question has four alternative responses marked: 8. ofel amia Sewmest vl € (Circle) e e Tea aGE ¢
@ @ @ . You have to darken the circle as indicated @ @ @ | e fotiTs sivmcs #is Seafoa 38
below on the correct response against each question. e FIET FACO I |
Example:@ . @ , where @ is the correct response. @W‘Y% @ . @ , @ ‘rT@_qﬁ Teq @ |
5. Your responses to the questions are to be indicated correctly in the €. SN (el AraE Al e @d OMR #itad WS B (e
OMR Sheet. If you mark your response at any place other than in 237 | OMR *Ita W3 e A o7 e @i Wﬁi@fﬂfﬂﬁ@
the circle in the OMR Sheet, it will not be evaluated. 3@ 4l
6. Rough work is to be done at the end of this booklet. b, 2iolg-7|REFIF (Booklet) (<IF ST A G (rough work) FACI |
7. 1f you write your Name, Phone Number or put any mark on any part 4. OMR “tg7 S 2 WS ey 2wl rors wnsif 7f wiefie @me
of the OMR Sheet, except in the space allotted for the relevant fEare O TA— N, FI T G0N S G (NS S (7
entries, which may disclose your identity or use abusive language or TR 7R SR FieS 753 biers 209 #I1ta =123 (@RS Sae=ia
employ any other unfair means, such as change of response by SR Ao T LA SPIL (IS Tol SIReTE T 2 [AU— S5
scratching or using white fluid, you will render yourself liable to i a1t i i Tea sifiasem aum a1 =, EIeRe el
disqualification. Mo Teasia ASETE Toy W ARRE |
8. Do not tamper or fold the OMR Sheet in any way. If you do so, your . OMR 7@l (Fe ©Id FoAT FAE =1l A SIS FA 1 | GICHE
OMR Sheet will not be evaluated. 7 OMR b i 71 1|
9. You have to return the Original OMR Sheet to the invigilator at the S, oIS TG 20 SIS I 23 (Original ) OMR #1@ft #iSH sAfimslas
end of the examination compulsorily and must not carry it with you ol fies 2@ @R @iee o @b A Fewa AR e e a2
outside the Examination Hall. You are, however, allowed to carry T A | SNAR =] 213 S 26T 21T Zfﬁ"@-‘?f@ﬁ?fﬁ (Booklet)
question booklet and duplicate copy of OMR Sheet after completion '€ OMR #It33 &fsffal (Duplicate) Sl e 1 72w w6 Fw @
of examination. AR |
10. Use only Black Ball point pen. So. VYAG FICA! I ATTH (A JIZF FAE|
11. Use of any calculator, mobile phone, electronic devices/gadgets 3. (FINe oFT FEAFEB, (NAIRA (FF, @pfeon AT
etc. is strictly prohibited. (fTeizn/iresa Teiv) a2 FeoiFeiE g
12. There is no negative marks for incorrect answer. 33, TF TEIEA T (FIN8 T (WSATF (Negative) 99 (RET 20 1t |
27287 [ Please Turn Over ]






13-11

Papir I1

(GEOGRAPHY)

1. When the axis of the fold is tilted and it
forms an angle between the axis and the horizontal
plane it is known as

(A) Overturned fold
(B) Plunge fold
(C) Monoclinal fold
(D) Nappe

2. Assertion (A) : The Rajmahal Hills,
formed by eruption of
basalts from the Kerguelen
Hotspot 100 million years
ago, are known for its
basalt quarries.

: The 90-E ridge partly
connects the Rajmahal
Hills with the hotspot that
erupted it.

(A) Both (A) and (R) are correct and (R) is
the correct explanation of (A).

(B) Both(A) and (R) are correct and (R) is
not the correct explanation of (A).

(C) (A) is correct but (R) is false.

(D) (A) is false but (R) is correct.

Reason (R)

3. Steep rectilinear slope without change of
angle is designated as

(A) Haldenhang
(B) Hogback

(C) Debris slope
(D) Primarrumpf

4. Which among the following letters is
associated with unweathered stones at the base of
a soil profile?

(A) D
(B) R
© S
(D) W

1. T SIS O (20 AT G FIG Seg o
S AN G0 (@I 5107 I OIS A0

(A) T e
(B) g wia
(C) TS Wiy
(D) ol i

2. [AI©(A) : AEZE ART [PTG AW
ey #ifdfo, Tl 100 fifere T=g
ol (FAVTCET SHRY (A

[T TSRS e oifoe 27 |
FF4(R) : 90-E (&1 ewze ARes
wkETea €8 S At
TG (A I SRR FE G
A |
(A) (A)S (R) %52 A5, €38 (R) =1 (A)-=
AT A |
(B) (A) @ (R) %oz #(5s 5% (R), (A)-«3
AT A 77 |

(©) (A) (s % (R) & |
(D) (A) el 5% (R) 7110 |

3. I AFSA @RS (rectilinear) BIeT (@RI BT
e Wi+ SieifEafee A O 9o =

(A) TR

(B) 211w

(C) =xI7% BiF (Debris slope)
(D) R

4. JfeF SARETER samed RERSIR 7 26w
s S G SFEHRET A T2RYS ?

(A) D
(B) R
(OB
D) W

[ Please Turn Over ]



13-11

5. Slow downhill movement of moist regolith
under sustained shear stress without heaving is
known as

(A) Rockslide
(B) Mud flow
(C) Frost heave
(D) Soil creep

6. Clay represents grains of
(A) <05 pum
(B) <1 pm
(C) <2 pum
(D) <4 pm

7. Which of the following is not the direct
contribution of weathering in mass movement?

(A) Winnowing of the finer particles.

(B) Increase of water holding capacity in
finer particles resulting in pore-water
pressure.

(C) Breaking of particles into smaller size
and reduction of angle of repose.

(D) Deduction of shear strength of
materials by disintegration and
decomposition.

8. Theratio of internal force to viscouse force
in a fluid is known by

(A) Froude number
(B) Rossby number
(C) Ekman number
(D) Raynolds number

9. At—a-station hydraulic geometry equations
of river indicated values of ‘b’ and ‘f” to be 0-22
and 0-64, respectively. What is the expected value
of ‘m’?
(A) 034
(B) 0-24
(©) 0-14
(D) 0-04

X4

s. ﬁﬁ?rfﬁﬁl’“ﬂ“ﬁ?% (shear stress) @il #eif®
Trele (heave) BT, BIsT IR A991fS ot oiie
@IfeTeF &R A

(A) @ = (Rock slide)

(B) ¥ 2312 (Mud flow)

(C) I7FG e &rae (Frost heave)
(D) ?[@51?{ @beTd (Soil creep)

6. A 1T ot
(A) <05 um
(B) <1pum
(C) <2 pm
(D) <4 um

7. Fafilie @RT 2fge @, SRRPIER
AR W 7372
(A) 7 FF ©21ZR (Winnowing)

(B) T FF TR FAOF J@d T
feu® SEBICeId (pore-water pressure)

I
(C) 317 AfSTFAET T I I 10
@3 IS (IR (angle of repose) 3
(D) Riftzaszd @ “6eTa 7l W@ o
FN9l9 (shear strength) 2™

8. TG W G AW I SFASCS A
(A) TC .yl
(B) = 4yl
(C) CFI A<l
(D) @ ALl

9. o35 T BT gyl enfifen Twe
D’ R 7 QT W IYF™ 022 8 0-64 | ATHCE
‘m’ -9 A7 e ZeT

(A) 034
(B) 0-24
© 014
(D) 0-04



10. In areas modified by glaciers, kames
represent

(A) A detached block of glacial ice.

(B) Remnants of disjoined lateral
moraines.

(C) Terraces formed in valley sidewalls
due to change in glacial mass balance.

(D) Mounds of stratified sands and gravels.

11. Which of the following statement is not true
for katafront?
(A) Katafronts are less active.
(B) Warm airmass sinks relative to cold
airmass.

(C) Warm airmass rises relative to the
cold airmass.

(D) In Katafronts warm air is overrun by
dry descending air.

12. Which of the following statement on
insolation is not correct?

(A) Solar wavelengths shorter than
0-285 wm hardly penetrate below
20 km altitude of atmosphere and
cannot reach earth’s surface.

(B) Solar radiation is mostly in the short
wave range of < 4 pm.

(C) About 38% of incoming solar energy
isabsorbed by ozone and water vapour.

(D) Insolation varies according tolatitude.

13-11

10. TR AR ARISS S ‘@ TE0e @RI
(A) ez I9cEd O fQfveg e
(B) Tz “nf alracaaig safiBics

(C) IR ST-SIRAGT +AFISER T
Torera A BIeT sTexed %

(D) afet ¢ T w=ifte B

11. =S arenad (Katafront) 7t s feiie
@i e Mo 772

(A) =S arotasfe w3 i 23

(B) *hoe1 AMole S T2e Agse fmans
2

(C) Mes AR2)g Sl T Ao TN
2

(D) el oy o Fwans g, Twe
IR S

12. CTRfRE=e 7S fsfis @iw el wfow
¥ ?
(A) 0.285 um (AT @5 STHWCH G
fafezel 20 f&f Twera Ties AgResE
AR (W FACS AN A 9K RSy
(=TS 2 |
(B) G ezl oTe % wa05d, A < 4 pum |
(C) wNofs CTRE AT 38% €ree 9]
T o A (i 2 |

(D) CTARFACR sifFsne Srrige Sl
AHfafde =7 |
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13. List-I shows that astronomical effects on
solar radiation and List-II shows their cycles.

Choose the correct match from the follwing options:

List-1 List-11
(a) Eccentricity of (1) 21,000 years
earth’s orbit
(b) Axial tilt (i1) 41,000 years

(c) Wobble and shift (iii) 95,000 years
of axis at the time

of perihelion
Codes:
@ (b)) (o

A) @@ G (i)
B) i) () (@)
© @ (i) (i)
D) Gi) @) i)

14. List-1showsthe components of atmosphere
and List-1I shows their possible sources.

List-1 List-11

(a) CH, (i) Respiration and
decomposition by
biota

(b) N,O (i) Microbial activity in
soil

(c) CO, (i11) Enteric fermentation
in animal

Choose the correct match from the following
options.

Codes:

@ b (o
(A @ () (i)
B) Gi) (i) @)
© @i G @
D) Gy @ (i)

X-6

13. @faa--cs e [fsacd Tol Txeieifes
2SI (I TR NN OfeTp-11-08 GRS FIToT |
fiRe Reaul @ 7 el @ e |

oifere-1 GEa |

(a) sffaS FwoT (i) 21,000 =g

Rfael
(b) OICFS (0T A (ii) 41,000 =
(c) PIIS TR (iii) 95,000 ==

O[S GOl

@ AR

PO .
@ ®) (©

A) @ G ai)
B) (i) G @
© @© aGi) (D)
D) Gi) @) G

14. ©IfFm-1 Q IQASER SAM S ©Yfere-11 @

SR B T (MR TR |
Ol ©IfeFI-I1
(a) CH, (i) GR-=[ % € 7be
(b) N,O (i) IfeFIcs Giatgg T
(c) CO, (iii) &red Wiz e
fsfafie Remaf e Afs T’ @
ool
PO .
@ b (©

A) @ aG) i)
B) G @Gi) @
© i) G O
D) Gy @) (i)



15. Identify the criteria which is not related to
the Bergeron-Fiendeisen Process:

(A) Mixed clouds with co-existence of ice
and water.

(B) Differences in saturation vapour
pressure.

(C) Migration of water vapour towards
sublimation nuclei.

(D) The smaller droplets must be close to
the axis of fall of larger drops to
increase the collection efficiency.

16. Which of the following terms is a measure
of the amount of water vapour in the air as a
proportion of the maximum amount of water vapour
the air could hold at the same temperature?

(A) Sublimation point
(B) Relative humidity
(C) Dew point

(D) Evaporation rate

17. Assertion (A) : In orographic rainfall, the
windward slope of a
mountain range gets more
rainfall than the lee slope.

Reason (R) : The warm humid air that
descends down the slope
gets warmed up and dry.

Codes:

(A) Both (A)and (R) are true, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

13-11

15. i feffaralb aracerse-Referm afemm et
TR 777 iz w2

(A) T (g 9% 8 TETd AR
(B) =& A9IBIToIR 2L
(C) I T 10 Stz Ao Al

(D) ka2 FEFIFel @z w1 F¥
ST J2L GRS 2 Oe-SICH

IR AFCe 2@

16. @e Mg SemEr IRCe S7Fe o
ool SAfIle G (T2 AR S Aol (19l ol
AT WIS @D 2l oA s 252

(A) IFTFRe 7y
(B) wtsifHs wiigel
(C) fiferz g
(D) IS 2
17. RIS (A) - iEmiersst e, Ao
T Bl SICofF 2SS Bite
SIRE IR
FFI(R) : SNY-GTe Y TF IS A
IR T G WF TR AW |
ISR
(A) (A) €= (R) 762 A%, @3k (R) =&
(A)-7 A= i |
(B) (4) @< (R) 7oz o=, % (R),
(A)-3 A Aty =737 |

(©) (A) 775 o8 (R) o |
(D) (A) e 5% (R) AT |
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18. Assertion (A) : Temperature varies at
different time of day.
Reason (R) : Radiationintensity perunit
area as well as amount of
reflection depends on the
angle between solar rays
and a tangent to the earth’s
surface at the time of
observation.

Codes:

(A) Both (A) and (R) are correct, and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A).

(C) (A)is correct, but (R) is false.

(D) (A)is false, but (R) is correct.

19. Which among the following statements on
tropical cyclone is not correct?

(A) Tropical cyclone mostly occursinlate
summer and autumn when equatorial
trough is displaced towards north and
south.

(B) It does not occur along equator.

(C) At the eye of cyclone, adiabatic
warming of decending airmass
accentuates high temperature.

(D) It mostly occurs beneath jet stream.

20. The verticle temperature gradient called
environmental lapse rate is

(A) 0-0065 °C/m
(B) 0-0060 °C/m
(C) 0-0055 °C/m
(D) 0-0050 °C/m

18. RFfE(A) : Wea R[fen ™M@ gz
s 77 |
FF9(R) : dfe «@FF FITE NI
i Sigel ¥k eferaeEs
AT, o EFE TNE G
At e sf2Sisjroa @ b1
TS| (e ToA T eq A |
(PIT :
(A) (A) @3 (R) 763 AfGF, @k (R) T
(A)- AT A |
(B) (A) @k (R) o2 7=, e (R),
(A)-7 5= 1t 77 |

(©) (A) 75 &% (R) o |
(D) (A) o1 5% (R) AT |

19. T8RN YRS sifFe i Kot 7w 7772

(A) e YRS @Rl Aeem i 2w
G MALHICET T, A R Biot @il
Ted GR TR A A |

(B) @efel M@ Stz @l T =11 |

(C) YRga e, aI agsjrga el
T4 (adiabatic warming) Si#istiat
@ ol |

(D) ufer @FSle ¢Fa (@6 2T Ao
I TR |

20. Si#N@E SEF Bl ACE A PR Ol
2M2I9 (environmental lapse rate) Ol 2&7
(A) 0.0065 °C/m
(B) 0.0060 °C/m
(C) 0.0055 °C/m
(D) 0.0050 °C/m



21.

22,

Assertion (A) : Sea surface temperature is
less than air temperature
between 40°N to 40°S and
thereafter towards pole in
both hemisphere it is
opposite.

Reason (R) : Insolationisthe sole source
of ocean temperature which
is high along equator and
reduces towards pole.

Codes:

(A) Both (A) and (R) are correct, and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Coasts are relatively
warmer near onshore wind
but colder where wind
blows from land towards
sea.

: Onshore wind piles up
warm water near the coast
whereas wind from land
drives warm water away
from the coast and cold
bottom water upwells.

Reason (R)

Codes:

(A) Both (A) and (R) are correct, and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A).

(C) (A)is correct, and (R) is false.

(D) (A)is false, and (R) is correct.

X-9

21. 731 (A)

13-11

: 40°N (AF 40°S-9F !
S TSR Sl A
SIFNIQI (A o, G917 T
(NI (i wifeaRl wiffEfs
eI |

D CTARR ANUS PN
OFAG TA; @b R
Tiie @3 GRE Sfeyed g
|

P19 (R)

PO .

(A) (A) 9% (R) Tomz AF 9= (R),
(A)-7 A5 |

(B) (A) @ (R) Tex s @k (R),
(A)-3 A(GE i 77 |

(©) (A) o= &5 (R) &

(D) (A) o1 f&g (R) 3|

22. f[A5fE(A) : sEAES N6 GoAga,

FERIY 2T SR Qe
e T2 77 |

offers wa, SEnfiee ZeTar
THAFETR (A TR T AR
O G TR F"-91SIad
#heet et Tro e |

P19 (R)

PO .

(A) (A) @R (R) Toxg #fos @3 (R),
(A)-7 A5 |

(B) (A) @& (R) Tez Miw 58 (R),
(A)-7 A= =7 |

(C) (A) o= &5 (R) &=

(D) (A) o1 f&g (R) 3|
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23. Which of the following statements about
ocean-floor relief is false?

(A) Ocean-floorrelief is more undulating
than land relief.

(B) Average depth of ocean is about
-3800 m and average elevation of
continental landmass is 840 m.

(C) Deepest parts of the ocean always lie
in ocean floor away from the coast.

(D) Relief is more complex along active
continental margin than a passive one.

24. In ocean, the rule of constant proportion
relates to

(A) Salinity

(B) Water mass identification
(C) T-S diagram

(D) Pressure : Density ratio

25. A line connecting equal depths below a
water surface is called

(A) Isobase
(B) Isodeep
(C) Isodepth
(D) Isobath

26. The circular orbital motion of water
moleculesin waves declines with depth. Eventually
at some depth there is no more circular movement.

(A) Thisisthe wavebase andisequivalent
to 1/2 of the wavelength.

(B) Thisisthe wavebase andisequivalent
to 1/20 of the wavelength.

(C) This is wave amplitude and is
equivalent to 1/20 of the wavelength.

(D) This is the ocean bottom and is
equivalent to 1/2 of the wavelength.

X-10

23. o wHAmeE wegfen Tow 4y ane
fgfoufer Wy @R were

(A) T CETMI G 2FO ZoAWC N wLFo
O S IHA |

(B) wF 91G MeiFe! & -3800 fi @)
FAWCR 1 Sl 840 i |

(C) @A FelFen SExiafe] 7l OoghE
(I R WO S I |

(D) g s Ssrets wermia feieie
AR gagte oIk wiba |

24, TP G SIS 3N, G A A RFe—
(A) sl
(B) TE9(&R HEFA
(C) -1 1afoa
(D) B9 : Ig SIS

25. @ A4 TEASDA SAWCAR I ST
N0 0, O A0

(A) SIREINEA
(B) wiigefes
(C) wiEEICe=Y
(D) SREIEIY

26. (TT-GF TEFINT DFIFT BT STSITOIT AK
T PR ISR, (I @6 T[T D&FIFIS belel T2
TR A | GF

(A) STF-eW AT G G SaHMca

%—aw{ﬂml

(B) Sa5-weiw#l A G Ot wameha
1
20 AN |

(C) S%-Ts! (amplitude) I @R @b
SRR 55 - T |

(D) wa%-8wel (amplitude) =1 @3 @
SIRCA %—&a T |



27. The sea water is saline because of
(A) Operation of the hydrological cycle.
(B) Volcanic out-gassing.

(C) Solution of saltes derived from ocean-
floor rocks.

(D) Evaporite formation.

28. Ekman transportin the southern hemisphere
occurs

(A) 45°to the left of the wind direction.
(B) 45°to the right of the wind direction.
(C) 90° to the left of the wind direction.
(D) 90° to the right of the wind direction.

29. Sea water density does not decrease with
(A) Increasing salinity
(B) Decreasing pressure
(C) Increasing temperature
(D) Decreasing depth

30. Development of the earth’s tidal bulge on
the opposite direction of the moonis bestexplained

by
(A) Centrepetal force
(B) Gravitational force
(C) Centrifugal force
(D) Coriolis force

X-11
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27. R TGS ERINCAVI ]G
(A) Trsbeed feal
(B) wcamfaifa-fsfe sipet

(C) o ReRe (ACF wzfHe FAER
9

(D) TSARIES o157

28. Vil (ol @i wifazel 9%
(A) IYLANEF DG 45° A
(B) JY2AIZA SFGCLT 45° TR
(C) Y2 SFECAF 90° A
(D) IYANET SIfSCF 90° TR

29. WG TG 3 AT A0 gD &
T\”_

(A) =Rl I
(B) olot g™
(C) w1+t qf
(D) sreiFe! g™

30. biore f[ise e 973 S R Ffes

S eIl I 2
(A) mifes I=
(B) SNpsdel T&
(C) Fmifesl &
(D) @Ifzwlm s
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31.

X-12

Read the following statements and choose

the correct option

(1) In nitrification NHZ is converted to
NO;.

(i1) In denitrification bacteria uses NO;
for metabolism.

(iii) Nitrogen is more adundant element in
living organism than carbon, hydrogen
and oxygen.

(iv) In nitrogen fixation, nitrogen is
converted to ammonia.

Codes:

(A) (1), (11) and (iii) are correct but (iv) is
incorrect.

(B) (1), (i1), (iii) and (iv) are correct.

(C) (i), (ii1) and (iv) are correct but (i) is
incorrect.

(D) (1), (ii1) and (iv) are correct but (ii) is
incorrect.

32. Assertion (A) : Corals become bleached.

Reason (R)  : Zooxanthellae is damaged
by intense ultraviolet
radiation, xenobiotic
contaminants, alteration of
ocean salinity &
temperature and intense
sedimentation.

Codes:

(A) Both (A) and (R) are correct, and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct, and (R) is
not the correct explanation of (A).

(C) (A)is correct, but (R) is wrong.

(D) (A)is wrong, but (R) is correct.

31. fmeve [Rgfoufs #itv T 3 Aloe Keafo

DA e

(i) WRE@IET-RI[GFIET AW NH,
NO, -9 <irefe =7 |
(i) ERGEe-RyfewaGRIY Ros-afemm
NO, <RI A |
(iii) ST 2N, I, TRGIT 9%
SRS OHNR ARG 2geTed
TAMI |

(iv) TREICEH-AI EFER I, TGS
S Feiee |

(PTG :

(A) (), (i), (iii) 7 5 (iv) ge
(B) (i), (i), (ii), (iv) A5

(©) (i), (iii), (iv) o+ @ (i) g
(D) (@), (iii), (iv) A= e (ii) g=

32. RS (A) : oE IR 2@ I |
FF9(R) : O wfeaeda &€,
(SHARIRITF FReR 2T,
TWEEE el 8 T
Afgass 93z wfemag
SACHEACIT I Grergel
oo 2 |
PO :
(A) (A) @2 (R) Toxg 7S @2 (R),
(A)-3 A i |
(B) (A) 922 (R) Te3z 7% @R (R),
(A)-7 A(GE i 77 |
(©) (A) A 5% (R) w1 |
(D) (A) w1 {5 (R) o< |
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33. Assertion (A) : Ozonehole centers on polar

regions.

Reason (R)  : Duringdark austral winter,
ozone along  with
destructive pollutants (CFC
and NOx) are trapped in
circum-polar vortex. In the
austral spring this ozone is
destroyed.

Codes:

(A) Both (A) and (R) are correct, and (R) is
the full explanation of (A).

(B) Both (A)and (R) are correct, and (R) is
not the full explanation of (A).

(C) (A) is correct, but (R) is wrong.

(D) (A)is wrong, but (R) is correct.

33. RIS (A) : STEI ST (3TF ST (ST |
FIF9(R) : WEES (SNETIHT RIS
Ao K- 5 7RI
7l (CEC € NOx)-712 STEw
FEe S S5 20T |
wEEe (AT ISR G2

GG RIS 2T |

I 2ICH

(A) (A) 9% (R) Toz A5 @R (R),
(A)-3 3=} g1t |

(B) (A) @k (R) Tex@ 7 @k (R),
(A)-3 ool gt =13 |

(©) (A) #Afos 58 (R) &=

(D) (A) w= % (R) 3|

34. Read the following statements on primary 34. el Serimaiere! faes Fveme Rgfoufs
productivity and choose the correct option oo € AT FFaH ST T
X

(i) In deep sea hydrothermal ecosystem,
initial source of energy is not the solar

(i) TSR M S-Sl Ao, 2

(ii) About50% of incoming solarradiation (i) GTRRFACER A 50% 25 AEIPAER-
is photosynthetically active radiation e Rfeae (PAR) |
(PAR). TSl
(iii) Only a meagre quantity (2-10%) of (i) PAR-4F J AR (2-10%)
PAR is used in primary production on 24T GeAMTHTOR j?\" RSIRIES
which entire world sustains. Toix fofe s a1t et (&6 A |
Codes: ICOCE

(A) (i)and(ii) are correctbut (iii) is wrong. . o s ...
(B) (ii)and (iii) are correct but (i) is wrong. (A) @) &R G e, e (i) e

(C) (i)and (iii) are correct but (ii) is wrong. (B) (ii) &= (iii) #fo=, 5w (i) el
(D) (i), (ii) and (iii) are correct. (C) (i) @ (iii) AT, 5 (ii) T
(D) (i), (ii) 9=R (iii) A= |

35. Interrestrial ecosystem, the biomass is about 35. FeoR IweTfce, (Taed Afs Twed
90-99% less at each higher trophic level. This is 5% 2RI@ 90-99% 9 | A7 A
known as
(A) Biomass cascade (&) (e 2o
(B) Food chain (B) <My &=
(C) Biomas pyramid (C) taes fHafe
(D) Ecological succession (D) JrEelfEs R

[ Please Turn Over ]
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36. Which among the following is not an air
pollutant?
(A) Arsenopyrite
(B) Carbon monoxide
(C) Volatile organic compounds
(D) Nitric oxide

37. The United Nations Framework Convention
on Climate Change (UNFCCC) is also known as
(A) Kyoto protocol
(B) Vienna convention
(C) Earth summit
(D) Montreal protocol

38. The 2-degree climate target has set the
following year to achieve it
(A) 2050
(B) 2075
(C) 2100
(D) 2125

39. Which among the following statements on
deep ecology is correct?

(A) An ecosystem with more than five
tropic levels.

(B) A firmly established ecosystem not
threatened by anthropogenic
intervention.

(C) An environmental philosophy.

(D) Ecology of the bathyal and abyssal
zones of the ocean.

X-14

36. fasfife smefelem @mb aRpRes w e
(A) SICHIARARG
(B) Sl MeTIRT
(C) TaT to@emief 1z
(D) RS wHIRe

37. TTARGE @ GFNETF FACOTHT e
FIREE (58 (UNFCCC) -4 S+ =1
(A) @I AGRE
(B) fow@al Fce™ia
(C) = ARG
(D) WG (AR

38. (I A= U2-TOR SRR %) S Gy
fdifae e
(A) 2050
(B) 2075
(C) 2100
(D) 2125

39. ool Zramfer e wa kgfowferm st
@A AoF?

(A) o7 sl GRre-71R I ageg

(B) WeIr afefre ageg it N &eiE
O T

(C) a5 Afc==aiat v

(D) TEMISIER AT @ SifeTe] SieeTa
BRG]
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40. Which among the following is the correct 40. 2017-(AF IITIEH oF AE W@
sequence of hosting Conference of Parties since izl T o @H e

20177 P
)| _ﬁﬁ <k (I; \S3 331 aC —
(A) Madrid, Katowice, Bonn, Glasgow, (A) ’ > %, AT, I -G

Sharm el-Sheikh (B) <, B, wifew, 2ol =I5 «ei-cor
(B) Bonn, Katowice, Madrid, Glasgow, (C) FBrezizs, Mfuw, 9, IS oT-(x12), aeell

Sharm el-Sheikh (D) <, e, <FCBIGEIE, Aol Sl -
(C) Katowice, Madrid, Bonn, Sharm el-

Sheikh, Glasgow

(D) Bonn, Madrid, Katowice, Glasgow,
Sharm el-Sheikh

41. Which one of the following areas is 41. TFeRe @W eIt 9 saawTel
characterised by low fertility rate, low mortality (fertility) T4, TS DI EAEAC T SR i@? RUSE
rate and high population growth rate? By 92 2

(A) The urban areas (A) *1ZF G
(B) The rural areas (B) 1ol GeTi<w!

(C) Theeconomically underdevelopedareas
(D) Both (A) and (C)

(C) TfAfSFeI SmTe «H I

(D) (A) @3 (C) T2

42. Assertion (A) : The  female  work 2. [RFEA) : SRSTHZALE NI 1Y,
participation in the urban Wﬁ e worer v &7 |
areas of India is lower than
that of male work PG (R) : SN GHIIR QoI %12 GBI
participation. forst Smete (M1 Rl afe

Reason (R) : The sex ratio (number of G 2JFC) TSI |
female per thousand males) @G
is significantly lower in
urban areas of India than (A) (A) 9% (R) To32 0%, 93 (R) =&
that of rural areas. (A)-= A5 e |

Codes: (B) (A) € (R) Twxi2 7%, 5% (R), (A)-

(A) Both (A)and (R) are true, and (R) is the @3 AT At 77 |

correct explanation of (A). (©) (A) A, 8 (R) w1

(B) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

(D) (A)ge, 5% (R) 7113 |

[ Please Turn Over ]
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43.

X-16

Which of the following statements relating

to population characteristics is/are correct?

(i) The trend of population growth in
India can be best represented through
exponential trend method.

(ii)) The demographic transition model
suggets that mortality rate determines
fertility rate in the form of positive
relationship.

(iii)) Horizontal occupational mobility
refers to the process of change in the
occupation from one type to another.

(iv) Although the arithmetic density of
population in mountainous region is
quite low, its physiological density
can be quite high.

Codes:

(A) Only (i)

(B) Only (i) and (ii)

(©) (i), (iii) and (iv)

(D) (), (ii) and (iv)

44. Assertion (A) : Sex ratio of population in

Kerala and other parts of
SouthernIndiais very high.

Reason (R) : The life expectancy of
female populationis higher
than male population in
Kerala and other parts of
Southern India.

Codes:

(A) Both (A)and (R) are true, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

43. RS Tkel Tifde Rfoulem s
@/ e Ao
() SRTSA G Jad sifeeple qroaerel
(exponential) #@feq MR AAGE Sl
IS T |
(ii) SPIRA AR g AT (T LIS T
JYR GRrFTel QA W0 T |
(ii1) TTSIET 2T DeTITS] 100 (IR A<k
(oIl (A O CopiiE SAfSea alfea |
(iv) Aot e fos saey T zETe
T Ty A @ |
PO .
(A) @9 (i) A
(B) (FIeTNIE (i) @R (ii) ARGF
(©) (i), (iii) 9= (iv) AAPF
(D) (i), (i) 9% (iv) AP

44. [RI©(A) : @R C N SR S SKE
G oot Seelte 47 @ |
FFY(R) : (A @ W SIS )

SRCH IR SHIA ST G
SN

(PIT :

(A) (A) 932 (R) Togg #AlSF, @2 (R) =
(A)-= A5 e |

(B) (A) €32 (R) Tex2 7w, 7% (R), (A)-
O3 7 R T |

(©) (A) AR, 78 (R) |

(D) (A) =, % (R) Ao |
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45. Among the following statements of
population as per 2011 census data, which is/are
correct?

(i) The state with highest proportion of
Christian population is Mizoram.

(i) The state with higher proportion of
Hindu population is Himachal
Pradesh.

(iii)) The state with higher proportion of
scheduled castes population is Punjab.

(iv) The state with highest proportion of
Muslim population is Assam.

Codes:

(A) (i) only

(B) (1) and (ii)

(C) (ii) and (iii)

D) (), (i), (iii) and (iv)

46. Which of the following relating to Rank-
Size relationship of cities is/are correct?

(i) According to Rank-Size Rule, P,= KR™.

(i) According to the law of primate city, the

P
Primacy Index = ——.
P,

(iii) The analysis of Rank-Size relationship
suggests that the gradient of regression
line is steeper in the urban systems of
developed countries as compared to that
of less developed countries.

Codes:

(A) Only (i)
(B) Only (i)
(C) (i) and (iii)
(D) (i) and (ii)

13-11

45. 2011 SIS TP Rl R
e @i e/ Rafowf wfiw?
(i) AR B TR ey 2& e |
(ii) AT 2 TP Qe 267 fRsibeT 2 |
(iii) > woififer Tife TP ey 2@
NG |
(iv) A AT SRR QST 2T S |
(PG 3
(A) @G (i) AE
(B) (i) e (ii) o
(©) (ii) € (iii) A=
(D) @), (1), (i11) G (iv)

46. NI @0/ @S @I FA-TTO
TARCE AlGFoI s a2
(i) F-e Qe P, = KR™
P,

(i) 2/ *2CER AR AT I5F 25 = 5
2

(iil) TSNS HF A (@ SES A
213 2l eI (regression ) (IR
foq GeTeIR B (reeis *zaEe afei @
@ S IS AR |

ISR

(A) @G (i) AE
(B) @G (i) AT
(C) ()8 (iii) AlG
(D) (i) € (ii) A=

[ Please Turn Over ]
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47. Ethnicity tends to produce social areas of
neighbourhoods which are

(A) sectors
(B) clusters or nuclei
(C) radial
(D) concentric zones

48. Which of the followingis correctly arranged
sequentially, from the earliest to the latest the
types of social changes as identified by Mumford’s
theory of origin of towns?

(A) Paleotechnic, Neotechnic, Eotechnic,
Biotechnic

(B) Eotechnic, Paleotechnic, Neotechnic,
Biotechnic

(C) Biotechnic, Neotechnic, Paleotechnic,
Eotechnic

(D) Paleotechnic, Eotechnic, Neotechnic,
Biotechnic

49. In the context of Urban Economic Base
Theory, if the non-basic employment is higher
than the basic employmentin anurbanunit, itleads
to

(A) Urban economic stagnation
(B) Urban economic recession
(C) Balanced urban growth

(D) Urban economic momentum

50. Which of the following is/are correct?
(i) Patrick Geddes — City region
(i) Walter Christaller—Settlementhierarchy

(iii) Colin Clark — Urban population density
gradient

(iv) W.J. Reilly — Breaking Point theory
Codes:
(A) () only
(B) (i) and (iii)
(C) (i), (iii) and (iv)
(D) (@), (ii), (iii) and (iv)

X-18

47. wifenal et TSR @ AWIEs g
R F@ O ™

(A) JST&l (%

(B) “Jgrwg Al (FdIwo
(C) @R

(D) IR (g

48. SINCFICES 1A Geolfe O Sl FH 25
(AT Ao T o€ e ARsEa @
SRS @I Al

(A) Paleotechnic, Neotechnic, Eotechnic,
Biotechnic

(B) Eotechnic, Paleotechnic, Neotechnic,
Biotechnic

(C) Biotechnic, Neotechnic, Paleotechnic,
Eotechnic

(D) Paleotechnic, Eotechnic, Neotechnic,
Biotechnic

o~

49. =177 w(fes fofe wgrET 7 o-efi

wfgfe A e @ @z, o Fo
P

(A) *1ZE@ LfeT Bl
(B) *I2@H LA GImare
(C) === Jaa )

(D) *ZEF WSS &g

50. Swa @D/ @Al 7w
(i) “NGF (olTea — %127 W= (City region)
(il) SI1T f@oea — IR FIGN
(Settlement hierarchy)
(i) FFM FF — ==d Gaag Jfe (Urban
population density gradient)
(iv) Tfere. (@ e —Rwan Ry oe(Breaking
point theory)
PO .
(A) &= (i)
B) (1) @R (iii)
(©) (i), (iii) €= (iv)
(D) @), (1), (1ii) G@R (iv)
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51. With respect to contemporary production
and export of agricultural commodity or mineral
which of the following statements is/are correct?

(i) Indiaisthelargestproducer and exporter
of mica in the world.

(ii) Australia is the largest producer and
exporter of iron ore in the world.

(iii) Chinaisthelargestproducer and exporter
of rice in the world.

Codes:

(A) (i) only
(B) (ii) only
(C) (i) and (iii)
(D) (i) and (ii)

52. Which one of the following sequences with
respect to Rostow’s economic growth model is
correct?

(A) Traditional society, drive to maturity,
take-off, high mass consumption.

(B) Traditional society, take-off, drive to
maturity, high mass consumption.

(C) Traditional society, take-off, high
mass consumption, drive to maturity.

(D) Traditional society, high mass
consumption, take-off, drive to
maturity.

53. Which one of the following characteristics
is not associated with resource?

(A) Itis functional and operational.
(B) Itis created through human efforts.

(C) It is exhaustible and it has value in
exchange.

(D) Itis dynamic.

51. et FRe s 938 AT TeAme
a3 gifs e Ao @F gfe a1 [gfosf
Ao 2

(i) SR oI Teolne @3 AL 7RSI
249 |
(i) SEHT @TE IFE Teoime @ AIfS
AfTe 242w |
(iii) B 1 Bestive € q@ifice fidice g |
(T :
(A) &= (1)
(B) =@ (ii)
(©) (i) @3 (iii)
(D) (i) 9% (ii)

52. e Sdfes TSI W (AR
Ao @I FNRA AT 2
(A) ame e, Aifee sRER Sifei
4!, GF o (take-off), THIGE il
THATSIol |
(B) avfe e, GF ==F (take-off),
AR SREF TS @), SHAGR
siel Toletat |
(C) Toamplie e, GF ==F (take-off),
TG ol Tolcelel, sifdee SEE
o Al |
(D) fozpfae e, SH@E ol Toitele,
GF O (take-off), #IfFee W=z
oI Al |

53. A @i @ oot e AfET T7re
(A« (functional ) G SACEHIIGET
(operational) |
(B) ¢t Mg 2GR 7B = |
(C) b RamAe =1 @R g7 Ry
Ry
(D) «ft sifsHieT |
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54. Which one of the following countries is 54, S @ @I G 9 G=R o1 SeAME

correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(C) (A)is correct, but (R) is false.
(D) (A)is false, but (R) is correct.

56. Match the following and choose the correct
answer from the codes given below

List-1 List-11
(Theorist) (Statement/Concept/
Approach)

(a) AugustLosch (i) Area-costcurvetheory
(b) D. M. Smith  (i1) Profit maximization
approach
(iii)) Delivered prices
approach
(d) Edger Hoover (iv) Behavioural approach
Codes:
@ @B © @
(A) (i) @) (@v) (i)
B) @ @) G aGv)
© @Gv) @) (@G D)
D) Gy @) Gi)  (v)

(c) Allen Pred

involved in the production of either rice or wheat RICRENOER
only? (A) B9
(A) China (B) S W
(B) USA (©) Gt
(C) Japan D) SR
(D) Indonesia
55. Assertion (A) : Intensive subsistance 55. /?y/@ A) : FeERerafcies Tﬁ SISEIR
agrigulture is character‘ised FRERE a5 2fs TedAm @
land and reatiely. low g Becte
output per capita. Y FIFe (R) : e Gifiksrrefefes a
Reason (R) :Intensive subsistence TS ST 7 (A0S TR
agriculture is practiced in Reifde 23|
very sl tand holdings. (89 (4% (R, e (0, (38
|
Codes:
(A) Both (A)and (R) are true, and (R) is the (B) ;?Tll; ;I:I)I Ao, G (R), (A)—?Iﬂ%

(C) (A) =, 5% (R) o |
(D) (A) e, 5% (R) 7113 |

56. Tod AANRGETT Ty FANTY AT T AR

o & e
A 335 [AFFO D[P <P

MR- M-I

(14 27eT) (og/413elh)
(a) SI9IG &7 () CFE-3T (I O
(b) fo.aw.fae (i) SIwI TR fEEae A

SR

(c) 9N (2f© (iii) (oRrerRe 2z aFe
(d) €T TS (iv) SHIASTS iFelt

PO .

(@ b (© (@
@A) @ @ >Gv) i)
B) @ G G (Gv)
© Gv) @G @@ (i)
D) ) @ G (v)
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57. “There must not be another location that
may offer a better alternative as a point of origin or
as a point of destination.” Which of the Ullman’s
principles relate to this statement?

(A) Complementarity

(B) Intervening opportunity
(C) Transferability

(D) Gravity

58. Given below are two statements. Choose
the correct answer using the codes given.
(1) Destination choice models are an
extension of gravity model.

(i) B (beta) is a parameter of transport
friction related to the efficiency of the
transport system between two
locations.

Codes:

(A) Only (i) is correct

(B) Only (ii) is correct

(C) Both (i) and (ii) are correct

(D) Neither (i) nor (ii) is correct

59. Consider the following statements

(i) According to Hirschman, inter-
regional inequality of growth is an
inevitable concommitant and
condition of growth itself.

(i1) Trickling down effects (Hirschman)
is analogous to spread effects as
proposed by Gunar Myrdal.

Which of the above statements is/are
correct?
Codes:

(A) Only (i)

(B) Only (i)

(C) Both (i) and (ii)

(D) Neither (i) nor (ii)

13-11

57. “olfsaeEe T Al 1w RET Gt 2l o)
I SRR Ol s 71 Al 71— 93 [gfe
TeTale 26 (i Tfeq Al TifFe 2

(A) QT%W (complimentarity)
(B) el sl

(C) BEIES @lsirel

(D) wifews

58. Aiwa RRIfouf oiga v3k s Keafls vam

P

() 5Ty DI W(TEIv eI BT

e ot |

(i) ¥ B & 2R Tl RS
Afqze-a<e 1 A @RS B (beta)
o 27 |

ISR

(A) @4 (i) APF

(B) &4 (ii) A

(©) (i) @R (ii) 762 Al

(D) (i) 9% (ii)~93 @FIEIHE AdE 77

59. oa RKgfowf sigs
(i) TR (Hirschman) S® SR
IiefeT (I TAACT G0 TSI
o] R TSFAE A6 1S |

(ii) =PI Gk ©f% @3 (Trickling
down effects) @9 fuE 21f$e
C2C GEF(FA (spread effect) 7@ |

ISR

(A) TG (1)

(B) (<TG (i)

(©) (1) 49k (1)

(D) (i) 9% (ii)-9F @D 77

[ Please Turn Over ]
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60. Who among the four theorists is not
associated with Dependency Theory of under
development?

(A) Paul Baron
(B) Andre Frank
(C) John Friedman
(D) Samir Amin

61. Match List-1 with List-II and choose the
correct answer from the codes given below:
List-1 List-11
(Proponents) (Theory)
(a) Hirschman (i) Growth pole
(b) Gunar Myrdal (ii) Trickle down
(¢) John Friedman (iii) Cumulative causation
(d) F. Perroux (iv) Core-periphery

Codes:

@ G © @
(A) (i) Gi) @(dv) (1)
B) Gi) Gv) @) (D)
© @Gy @G @ aGv)
D) @ G Gv) (i)

62. Choose the correct option from the codes
given
(i) The term cultural ecology was first
used by American geographer Carl
Saur.

(i) Cultural ecology is the study of how
people’s culture is an adaptation of
their surrounding environment.

Codes:

(A) (i) is true and (ii) is false

(B) (1) is false and (ii) is true

(C) Both (i) and (i1) are true

(D) Both (i) and (ii) are false

X-22

<\

[eT\9l

60. THI @ 4G SE R TEF
(dependency) ©T&d Al T 7= 2

(A) == IR
(B) Siitw =
(C) o TS
(D) ¥ Sfs

61. NI ARAMHI N FTEY AN TP 9%
Ao el ofze e

TFq- TR
(z7el) (99)
(a) T (i) e cole

(b) w7 e (i) G wiew
(c) O TSI (iil) PSS Freia

(d) 9. (o= (iv) @R-coifaesa
PO .
@ ® @© (@
(A) G @i Gv) (1)
(B) (i) Gv) (1) (i)
(€ @Gy @y @  (@Gv)
(D) @) @) Gv) (i)

62. T Ryfouhr Mt s Real vaw
e

() SEEF CSalfere T T 2424w
HRQ}T@P SRR (cultural ecology)
40 (e |

(i) FrST AR Ao o A=A
FARIET ML SRS TG 9108
€00 O 0% 2 AICF ST Al |

(PO :

(A) (i) 7= 5 (i) T

(B) (i) T % (ii) 7=

(©) (i) 9= (ii) 762 7o

(D) (i) @R (ii) ¥o2 wa1
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63. Which of the following statements is/are

true?

Cultural convergence

(i) occurs due to geographical seclusion.

(ii) refers to the process by which different
cultures adopt similar characteristics,
ideas or practices.

(iii) promotes cultural diversity.
(iv) can result in rise of transnationalism.

Codes:

(A) (ii) and (iv)
(B) (i) and (iii)

(C) (iii) and (iv)
(D) (ii) only

64. Larger clusters of traits organised about

some nuclear point of reference is known as

(A) Culture area

(B) Assimilation of cultures
(C) Cultural ecology

(D) Cultural complex

65. Assertion (A) : Muslims of India display
high degree of ethnic and
cultural diversity.

Reason (R) : Muslim masses were
largely derived from local
ethnic groups, both Hindus
and Buddhists and carried
with them distinctive ethnic
and cultural characteristics
even after conversion.

Codes:

(A) Both(A)and(R) are correct, and (R) is
the correct explanation of (A).

(B) Both(A) and (R) are correct, but (R) is
not the correct explanation of (A).

(C) (A)is correct, but (R) is not correct.

(D) (A) is not correct, but (R) is correct.

63. Hcghos ATy FFE (@I [9fe/Rgfouf
TP
(i) afb coranfere ferrea TR @ 27|

(ii) @ft @3 FaforF @RI @A S fon
RS AR O MR I LT (I,
Il GIR SIS 27 FE |

(iii) @3 71 AT @o@ o[0T € |
(v) 93 =Rl ITETeToR D 23 |
PO .
(A) (ii) @38 (iv)
B) (i) 93 (iii)
(C) (iii) @32 (iv)
(D) <1 (i)

64. (IFTeF) (BT J2e e T TP
(FHITS B FOfers 910 S5, O O 0
(A) AT G=TIw
(B) Agfos
(C) Aicgfos el
(D) HAcghos T2

65. [0 (A) : SRS PIRTNR N SHAA
GIf9ore G AFeF (733 (721l
|

FIF9(R) : PAfeTTemmeki g aifesrs
IS I B @ (T (AT
Tgo 97k q(eEd oae
o frery @ifesre ¢ Acghes
Il T2 SR BrETeE |

(PIT :

(A) (A) @R (R) 462 7APF, @A (R),
(A)-a7 TS PRI |

(B) (A) @ (R) 4oz #Afdss, @A (R),
(A)-<a7 AT i 77 |

(C) (A) 7= 5% (R) To

(D) (A) @& 5 (R) AT |
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66. Which of the following is not included in
Dravidian family of languages?
(A) Malto
(B) Gangte
(C) Gondi
(D) Tulu

67. Which one of the following gives the
economic reality rather than mental image?
(A) The image of a city
(B) Social area of a city
(C) Command area of a city
(D) The soft city

68. Match List-Iwith List-1I and find the correct
option from the codes given below
List-1 List-11
(Communities)  (Area of concentration)
(a) Buddhists (i) Naga hills
(b) Monkhmer speakers (ii) Sikkim
(c¢) Konyak tribe (iii)) Meghalaya
Plateau

(d) Nayar Caste (iv) Malabar coast

Codes:

@ @G © @
(A) () @) (i) @[Gv)
B) Gv) G @) (i)
© @ aGv) aGi) ()
D) Gi) @) (@ (v)

X-24

66. 5T @G TR 1 oS e 5
732

(A) B
(B) i
(C) NS
(D) &1

67. A @ET WP Afewm T IR TEwE
@ w<tafes < (A A e

(A) 9= *z=a aiferefa

(B) @b gtz e #Afeor
(C) b *ZFF FAT G&7F
(D) W= *127 (Soft city)

68. o7 AN Ny ANT Al T G

s fAwls oo Feee

AT M-
o) (@RS =)
(@) = (i) el “A12re
(b) SECASTSIRL (ii) e
(c) @ CoAgife (i) I ETS ™
(d) 7 wife (iv) TR T
ISR
@ @G @© @
(A) () @) (i) @[Gv)
B) Gv) Gy @) (i)
© @ Gv) (@) (i)
(D) @G (i) @ 3Gv)
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69. Assertion (A) : Voting behaviour in India

is influenced by the factor
of caste.

Reason (R) : Caste system in India is a
regional specificity.

Codes:

(A) Both(A)and(R)are true, and (R) is the
correct explanation of (A).

(B) Both(A)and (R) are true, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

70. Which of the following statement(s) is/are
attributed to Mackinder?

(i) Rimland is far superior spatial unit
than heartland.

(i) Geography is coercive force which
determines the evolution of
geopolitics.

(ii1)) Who controls the rimland rules
Eurasia; who rules Eurasia controls
destinies of the world.

(iv) There is a historical conflict between
the land power and sea power.

Codes:

(A) (1), (iii) and (iv)
(B) (i1) and (iii)

(C) (ii) and (iv)
(D) (ii) only

71. The world map prepared by Hecataeus was
based on the map of

(A) Herodotus
(B) Anaximander
(C) Ptolemy

(D) Eratosthenes

69. RIS (A) : SIS ifeTed Al (SItha

v9e ffEe =31
FF9(R) : ©ITedE wifeormal wiwefas
AR ST 32 FE |
IO :
(A) (A) 932 (R) A6 @A (R), (A7
3 Qg |
(B) (A) €32 (R) A3 @A (R), (A)-a9
3 =t |

(C) (A) 0=, 5% (R) |
(D) (A) e, 5% (R) 7113 |

70. S @i [/ ef wifver axfser

(i) faerie, 2baie SR = el (i
G |

(i) coTaNferd RRATTR @I GeTFi
GG oF RS Al e |

(i) @ e g @ GT IR
T P05 ([ BECRAMANCS fol@el Fa63
@1 AffaSg wtay fNefizel a3 |

(iv) Zoife g AfEs<feawe afsafie
I (AF FRAS AR |

PO .

(A) (), (i) @R (iv)

(B) (ii) @<R (iii)

(©) (1) ¥R (1v)

(D) (<eTE (iii)

71. ifbam #ffadm aabaft e sfeTnrfas

Tefbeas fofers tofd e 2
(A) EEATTHR
(B) SyifeRIIeE
(C) St
(D) CRNGEIEA
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72. Who among the following described
geography as chorography?
(A) Varenius
(B) Humboldt
(C) Hettner
(D) Kant

73. Which one of the following is the correct
match from the following list?
List-1
(a) Tableau Da La
Geographie da la France
(b) Locational Analysis (ii) Griffith Taylor
in Human geography
(¢) American History
in its geographic

List-11
(i) E.C. Sample

(i11) La Blache

condition

(d) Migration Zone (iv) Richard
Theory Chorley
Codes:

@ G (© (@
(A) Gv) @G @) ()
B) i) Gv) (@) (i)
© Gy Gv) (@) (i)
D) Gi) Gy @O Gv)

74. Who among the following geographers had
shown that the Greek division of the world into
five climatic zones (two cold, two temperate and
one torrid) did not correspond to reality?

(A) Al Mugaddasi
(B) Ibn Khaldun
(C) Al Idrisi

(D) Marco Polo

X-26

72. (3 SRS G [Ree e 9@
FAMRCE 2

(A) ceAifT™
(B) TEEIT
(C) B
(D) JI%

73. o AN fow T AN Al o7 AT
T30 53w e

MR- MR-

(a) G v & focafs (1) 2 B sieees
i &1 e

(b) T TeaNE SRFE (i) fafee Germ
e

(c) colalfers FREesa (iii) o1 g
i swfsers
2fozp

(d) “fzarem g eg  (iv) OIS GRE
P

@ O © @
A) Gv) @) @) (1)
B) Gi) Gv) @ (i)
© Gy Gv) @ (i)
D) (i) Gy @ >(v)

—
~

74, BT @ gy B v aafSe

5§23 i1 ety SeeTcs (7o #res, yb wifsSiceore
€ G35 Te) SIS AR ?

(A) @It AT
(B) 23 QT
(C) == 3fufy
(D) I (A
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75. Which of the following statements about
Humboldt is correct?

(A) He wrote regional accounts of Mexico
and Cuba.

(B) He was a teleologist.
(C) His works are highly deterministic.
(D) He wrote a book named Erdkunde.

76. Whichofthe followingrelating to geography
books and author names are correct?

(i) Peter Haggett authored the book on
‘Geography: A Global Synthesis’

(i1) R. J. Johnston wrote the book on
‘Geography and Geographers’

(i11) David M. Smith wrote the book on
‘Social Justice and the City’

(iv) David Harvey authored the book on
“The Urban Experience’

Codes:

(A) (i) and (ii)

(B) (i) and (iii)

(C) (i), (ii) and (iv)

(D) (), (ii), (iii) and (iv)

77. Who proposed the concpetof ‘Living Space’
in geography?
(A) Carl O’ Sauer
(B) Friedrich Ratzel
(C) David Harvey
(D) David M. Smith

13-11
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75. i eveRErt- s Ryfowlers sy b

EIPEE

(A) T @R ¢ FSaw S R
[GRIRGD]

(B) Tof Sreaaidt fecete
(C) S e wfoxiar gz
(D) fofv e < @ 72 fercafee™

76. TONTER 72 8 (FTRF- AT 3 S fora Tty
FafE Ao

(i) ‘fereafs =i carare Pregher i
=5 Zieals

(i) ‘TreaFere e ke
(. Gvoe

(i) ‘G % s v B fercafecew
oot g, fae

(iv) T @R Frdfees efow
RIS

PO .

(A) (1) 9. (i)

(B) (i) €=¥ (iii)

(€) (D), (ii) €% (iv)

(D) (), (ii), (iii) 9% (iv)

77. “forfeR oo «ReI (F 2T A 2
(A) FI0 € T
(B) o= Fivree
(©) (oiew 2t
(D) (efow @3 a2
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78. Assertion (A) : Sex is the biological
category and gender is the
social construct.

Reason (R) : More aggressive nature of
men and caring nature of
women are not natural
characteristics but socially
constructed.

Codes:

(A) Both(A)and(R) are correct, and (R) is
the correct explanation of (A).

(B) Both(A)and (R) are correct, but (R) is
not the correct explanation of (A).

(C) (A) is correct but (R) is wrong.

(D) (A) is wrong but (R) is correct.

79. List-1 List-11
(Proponents) (Concept)
(a) R.E. Park (i) Urban Ecology

(b) J. Q. Stewart
(c) B.Berry

(i1) Rank-Size Rule
(iii) The Scope of
cartography
(d) A.H.Robinson (iv) Social Physics

Choose the correct match between the above
two lists from the following:

Codes:

@ G © @
A) () (@Gv) @G (i)
B) @ Gv) aGi) (i)
© O G 3G aGv)
D) @iy @ Gv) (D)

X-28

78. [R3f© (A) : G (Sex) &I (&l el 5

@@ (Gender) 936 AT
>l |
P79 (R) : 2F@T T FORK GR WZAR
TG FOR 2FToe T IR
P13 ANIEFeI @ SIS |
IO :
(A) (A) 932 (R) #AfSF @A (R), (A)-<7
3 Qg |
(B) (A) @32 (R) A3 @A (R), (A)-a9
3 =t |

(©) (A) s % (R) @& |
(D) (A) el 5% (R) 7110 |

79. 0 2ve b SifeTpi Sy = Al IR

S AEls oo Feee |

Oiferer- GEa
(2et) CIERI))
(a) S92, oAIF () =19 rgwl
(b) o f58. F5%a% (i) Fw-=e= faaw
) & & (i) Wog e e
CIEEE
(d) @. G35, IR (iv) e s
PO .

(@ b (© (@
A) @ aGv) G (i)
B) @@ Gv) () (i)
© © G G (Gv)
D) Gi)y @ Gv) (1)
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80. Which of the following is not an influence
of Darwinism in geography?
(A) Concept of change through time or
evolution.

(B) Concept of humanity as partof aliving
ecological organism.

(C) Concept of anarchism.
(D) Concept of struggle and selection.

81. Which of the following are orthomorphic
projections?
(1) Polar Zenithal
Projection
(i1) Cylindrical Equal Area Projection
(iii) Mercator’s Projection

(iv) Simple Conical Projection with one
standard paralled

(A) (1) and (i1)
(B) (ii) and (iii)
(C) (i) and (iv)
(D) (1) and (iii)

Stereographic

82. It was observed in a mature sal forest in
Jharkhand that the heights of the mature trees (y)
are almost same with the increasing distance from
the core area of the forest (x). Now, the correlation
coefficient between x and y will be

(A) Low positive

(B) Low negative

(C) Moderate positive or negative
(D) Close to zero (0).
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80. O & (I YA SRR A
CRRITR &7 2

(A) TER A RS 70 AfS g 4 |

(B) &€ qrgfwpiore aies S 2
JHTOT GiFef |

(C) FASIAIMA «iKel |
(D) RN € ART-97 47l |

81. fsfiie @wef sF® (orthomorphic)
SfSCFe! 2

(i) CR=R (eleele Pofreaifts sferme
(i) TCwaes [JE @@ Siferse!
(iii) NCFGRT wferwst
(iv) @F aEid-orwEaiiRg e =%
wferws!
(A) (i) @R (ii)
(B) (i) €3 (iii)
(C) (iii) @R (iv)
(D) (i) @R (iii)

82. TACTH (b #{fHeT *ifeT ersicet (7 (SR 3,
T (Y (AP TG A A0 (x), “Afere Jowa
T (y) 2 G2 (AT W | 92, X G3R y-<AF (&Y

(A) 3 49

(B) T HNS

(C) RN & IgRs A Jelrers
(D) 2R *Ea TR
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83. The appropriate sampling for differential
concentration of spatial data in a region is

(A) Hierarchical sampling
(B) Cluster sampling

(C) Snowball sampling
(D) Judgement sampling

84. What does it indicate when the value of
chi-square is found to be 0 (zero)?

(A) Null hypothesis accepted
(B) Research hypothesis rejected
(C) Null hypothesis rejected

(D) Both (A) and (B) are correct

85. A sampling data is normally considered
statistically significant if

(i) p-value is lower than 0.05
(ii) p-value is lower than 0.01

Considering this information, which one of
the following statement is true?

(A) Only (i) is correct

(B) Only (ii) is correct

(C) Both (i) and (ii) are incorrect
(D) Both (i) and (ii) are correct

X-30

83. @I I GETFR WRF  ARAIET
(PRSI (I AR Sy (el V] A1
R 2T 2

(A) IFFEE T AN
(B) FHR Il A

(C) GRI-]&T T I

(D) GG T ]

84. T2 CHEE A %I 2051 H @RI 2

(A) = AR azeciey
(B) IR 2ReAAIfRIRT qeie
(C) & FErafadm aeie

(D) (A) &= (B) 552 o

85. Tl AR A92C CURIME ALRS
SoiGAGHIfT Piaiffemrs i =7 a3a

(i) p-49 = 0.05 9T I 7
(i) ‘p-<€< W 0.01 9 I =
Toitaa o fefers Aiewe @i st Fhw
(A) @ (i) AGF
(B) &< (i) AfoF
(©) (i) 9= (ii) 762 g
(D) (i) 93 (i) 7oz 5=
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86. Which statement aboutaclinographic curve
among the following is incorrect?

(A) The horizontal axis shows distance
according to scale.

(B) The vertical axis shows elevation
according to scale.

(C) It shows the distribution pattern of
average slope in different elevation
zones.

(D) It is suitable for hilly areas but not
suitable for gentle slope areas.

87. If amap, drawn in a scale of 1 cm to 30 km,
is to be enlarged three times, then the R.F. of the
enlarged map will be

(A) 1:1,000,000
(B) 1:3,000,000
(C) 1:6,000,000
(D) 1:9,000,000

88. Which one of the following satellites move
in a geostationary orbit?

(A) Cartosat - 2C
(B) Insat - 3DR
(C) Landsat -8
(D) SPOT -7

89. Which among the following sensors has a
shortwave infrared band?

(A) LISS-1
(B) LISS-1II
(C) LISS-1II
(D) LISS -1V

13-11

86. SRS @efba A E Toos (v Kol
G ?

(A) ST S0 (56 SRR 788 @RI
|

(B) TF¥ WICF (e SN Tl (AR
|

(C) «ftre Rfeq TwHoR 91T GItsTa I5E
R (PICeT 2 |

(D) @i AT GHIFR G TS [ 7
TS eI SRS 1 |

87. 1 @fce 30 N =1 swfee @ wahba
3 @ JfEfe 1 207 wige A MWD R F. 2@

(A) 1:1,000,000
(B) 1:3,000,000
(C) 1:6,000,000
(D) 1:9,000,000

88. fasfifis @n Ffaw Soiaz’ womem Fwat
Al T2
(A) Cartosat - 2C
(B) Insat-3DR
(C) Landsat - 8
(D) SPOT -7

89. S @ AT FroTH-SR_EIRS b
R ?
(A) LISS -1
(B) LISS -1
(C) LISS - 1II
(D) LISS -1V
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90.

X-32

Which one among the following is not an

example of vector data analysis?

(A) Topology creation

(B) Neighborhood operation
(C) Network analysis

(D) Overlay analysis

91. Assertion (A) : India’s green revolution

92.

stands for atime span when
technology transfer to the
agricultural sector greatly
increased crop production.

Reason (R) : The green revolution of
India was possible by
technological innovations
developed indigenously.

Codes:

(A) Both (A) and (R) are correct, and (R) is

the correct explanation of (A).
(B) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A).
(C) (A)is correct, but (R) is false.

(D) (A)is false, but (R) is correct.

With reference to the given sequence of

some Indian states in terms of selected agricultural
production during 2020-21, which of the following
is/are correct?

(i) Uttar Pradesh, Madhya Pradesh,
Punjab, Haryana (in terms of wheat
production)

(i) Maharashtra, Gujarat, Telangana,
Rajasthan (in terms of cotton
production)

(iii) West Bengal, Uttar Pradesh, Punjab,
Telangana (interms of rice production)

Codes:

(A) (i) only

(B) (i) and (ii)

(C) (ii) and (iii)
(D) (), (ii) and (iii)

90. I @G (37 92 R0 Swizgel 777 2
(A) Gielele ergesael
(B) AF=S fRusel
(C) oeT fuame
(D) woReE sl

91. o (A) : ©ited "o [2d @5 @i

R TS 27 A3 FRCFCT
AYfey  FiAs TR
JiRoAmaCE IRl I I |
FIF9(R) : (T 2YfEq AT Tafod T
SlACe WqE K21 787 2@ |
PO .
(A) (A) 9K (R) AF, @R (R), (A)»-93
O A |
(B) (A) @R (R) A, @R (R), (A)-€3
Ao 1 |

(©) (A) 7Mo%, 58 (R) |
(D) (A) ge, 5% (R) 7113 |

92. 2020-21-93 F Ttz Wiz Twa @
@ el A 2
(i) Teaam™l, T, 2Ngla, 2 (1
IS CERRIEIS)
(i) VAT, VGG, (SETHI, AEE (P&
IS CERRIEIS)
(iii) =AMoaast, TeRAwm, NG, CSETHAl
(CIDACR L CERTIEIS)
PO .
(A) (<TG (1)
B) () «9=R (i)
(C) (i) 9 (iii)
D) (1), (i) 9K (iii)
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93. Which one of the following is the main
cause behind high population growth in India?
(A) Low death rate
(B) High birth rate
(C) Large scale migration
(D) High life expectancy at birth

94. Which one of the following is the correct
sequence in respect of decreasing level of
urbanisation in four selected states of North-East
India as per 2011 Census?

(A) Mizoran, Manipur, Arunachal Pradesh,
Assam

(B) Mizoram, Assam, Manipur, Arunachal
Pradesh

(C) Assam,Manipur, Mizoram, Arunachal
Pradesh

(D) Manipur, Assam, Arunachal Pradesh,
Mizoram

95. With reference to the given sequences of
states in terms of area/population/population
density according to 2011 census, which of the
following sequences is/are correct?

(i) Rajasthan, Madhya Pradesh, Uttar
Pradesh, Maharashtra (in terms of
area)

(i1) Uttar Pradesh, Bihar, Maharashtra,
West Bengal (in terms of population)

(iii) Bihar, West Bengal, Kerala, Uttar
Pradesh (in terms of population
density)

Codes:

(A) (i) only
(B) (i) and (ii)
(C) (ii) and (iii)
(D) (iii) only
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93. SHA (FAD SRS G WS e T
[l ?

(A) T8 g 2=

(B) T o TR

(C) @@ e

(D) T S IR S

94. 2011-97 TSR SEPACH T&F-7[F SiCed
HIATD AT FAZPTIN T oI G ST AT
@ Rl Ao ? — w3 T

(A) e, Sfdsi7, SIEelbeT 2=, S
(B) Talceniast, Sior, stielsiq, Sieelioet el
(C) SIPAI, SiefofR, Firenas, S=eelbe] 2ol
(D) ez, ST, SReelibet 2lre, ficei=is

95. 201 1-97 SN SIPAICH CFgee, SeP1
€ TEagd (@dfFre T @W eah/ e
o2

(i) e, TGAW, TeIAm*l, TG
(LG ERBIER))

(i) Cerzm=, [RZF, TG, sFesas
(G TfRicR)

(iii) =7, AN, @, SeqAmH

TECICERDIBIS)!

PO .

(A) &34 (1)

(B) (i) 9% (ii)

(©) (1) @R (ii1)

(D) T (iii)
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96. 8586 m is the altitude of which of the
following Himalyan peaks?

(A) K2

(B) Nanga Parbat
(C) Kanchenjunga
(D) Nanda Devi

97. According to Govt. of India, the number of
agroclimatic zones of India is

(A) 18
B) 15
© 12
(D) 10

98. According to the 2011 census, the correct
order of ranking of the large Indian states in terms
of urban population to total population ratio is

(A) Kerala, Maharashtra, Tamil Nadu,
Gujarat

(B) Kerala, Maharashtra, Gajarat, Tamil
Nadu

(C) Maharashtra, Tamil Nadu, Kerala,
Gujarat

(D) Tamil Nadu, Kerala, Maharashtra,
Gujarat

99. The largest area coverage of zonal soil in
India belongs to
(A) Podzol
(B) Laterite
(C) Chernozem
(D) Alluvial

100. An aerial photograph of a terrain having an
average elevation of 1400 m is taken at an R.F. of
1:7500. The focal length of the camera is 15 cm.
The flight altitude above MSL is

(A) 1225m
(B) 3025 m
(C) 2525m
(D) 3535m

X-34

96 [ S S g o

. lerie e @ *5ha Twel 8586
e
(A) K2
(B) =l ol fe
(C) Fiewered|
(D) it
97. OF© AIFE TEI, SRS FR-GERIY
GHIPIF AT
(A) 18
(B) 15
©) 12
(D) 10

98. 2011-93 S SR SRTeR I2-
ST TR SR € (M SR Ao
AT T

(A) =<, NQM@, \‘Jll(iﬂ'ﬂi‘?, REHIY

(B) (I, RIAG, SEHAID, SIFETIE
(C) TZA, w]&w-ﬂg, &I, ST
(D) SIETIE, (e, 21E, Seras

99. ©ICs I Jiewralera Ny g 7<ife
Egl

(A) I
(B) sUIGAIEG
(C) witsfiee™
(D) =t el
100. 1400 3. 1% THOTE (@I SLE [AT-
5@ 1 : 7500 R.F.-4 521 2R | W R

g 261 15 @I | ol Fgwree (0 Rt Sl
Troel

(A) 1225 .
(B) 3025
(C) 2525
(D) 3535 .
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